HU3menenns B MPOEKT OPraHu3anu# JOPOKHOT0 JlBﬂ)l(el:lﬁﬂ o

ya. Jlenuna 2

YTBEPIK A

T'1aBa agMuHBCT) ﬁ u 3ATO 3B

A. M. IliBenoB

E3MHBIIH

JI T

lll?'{i

600 | 700 800 | 1000 | 1100 1168
2.5 (orpa
8.13
— & ~
o) °,"2 ‘_N.g \ |
o oae - 532
[—’ m! ﬁil_g L& e
s L 17817

{0l —
ik

J T |
: 1.14.1
) sl (675) (707) - (1030) (1143)=
v 1] S a—— AeHM o] 2
- Lldlem |2
= __(656) (784) 000) (1059) =
I iy ~72.4
I = pJ vz TN V.
D> l )
B 5 -
o7 R, S
S 8RS 2ER°
fad N oo
600 700 800 | 1000 {1100 1168
2 7.0 o 12,4 2 7,0
14 |7 18
(= 0 o ©
)8 o S e
100 =
140 200 248
4
5
by 2 — ( .
| 1 . (% - r‘ - o - ‘/' = & -
lieos) | (675), | — | i
o . MeHwnHa [ 2
(656)) [ R ((1000) Y ((1059) =
71600 700 800 |900 1000 1100 1168
Nuer
MpoexT opraHu3aunu JOPOXHOro ABMKEHUA
Wam. JKon.ya] fucr Ne gok.f  MMoan. [fara yn. flenuna 6




